Alg 2A Ch 2 Test Practice Test

Form A ~ minimum day version

Show work for full credit. Circle, box, or highlight your answers.

Questions are worth 5 points each; the total will be converted to an equivalent score out of 100.

Identify the slope of the line passing through the given points
1 (3,5),(1,8) |
4.4 ¢ -5
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Write an equation in slope-intercept form for each line described below

2. m =-3; passes through (-3, 5)
AN
Y- = —3( ) +73)

3. line parallel to 2x —3y =9 passing through the point (-1, 4)

et/ R R

wi= 73
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For #4-6, a line passes through the point§i(=3; 5)and/{%2,1)" T O \
4 Write the equation for thls line In point-s o>pe form

ms= —

'o"" ¢ C S 5)
5. Convert the equation for this liheta’

Y= = ~(x+3)

7. translated 4 units right, and 5 units down
8. translated 3 units left, reflected across the x-axis
9.

10.  Without graphing, identify the vertex and axis of symmetry for the equation

y=4|x+5| -
vertex: -__ axls of symmetry: -
-more-

‘
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Graph each inequality

11, f(x)=|x-2|+1 12. f(x)=2|x+2| -3

A A

Tk Z T
N \

€ d > < / ‘) >
’#:r
v v
13, y<3x+2 14, yzix+1 _ %
r 4 AN h\ i}
N===F= WA SRV INAVAN M SV RIAY !
mE=c= QNEAARNVEANANR |27
M === BUYNVWNNNSNPZE
A= - N \ N
PR E AN .\\ﬁx_ o =
P = i e VINROANAL NN o
0 = e WINNNE QP ZdE
) el NN \
‘ i e e e e e NN 4 >
I e e AN MEA
A s 2 o e NEA
I B i )4
& ——‘;"::_- ""; '
A Nsg===01"I»
e 7

-end-

Scanned by CamScanner



